= s = Txjst | ZolHo] HE 27| 3At MF =
= | oxeg aad 45| THR | 3N [Fe [eE] AA &g
o1 shE R EC 2U2hE- 200 - - - 200
O|&Al| kS5 h _
[&Al %IiESﬂrL(OFZ) ouzt5f 200 _ _ — _ - 200
shE R EC 2U2hE- 120 - 80 - - - 200
1647
= 70 30 - - - - 100
ovy | 2SI (5=
A gt 120 80 - - - 200
=2 7
1I:
c - 40 40 20 100
P (5t<=44
2 80 120 200
2. MIBXIZ: 2FSESeA(RZEAQAR FIIEZIp0| §) W MHSHYH(MEE 7|F) [x2tsstato] A2 AFOINE HES T8

% HEAA(117H) BEITHS= "8’ 7|
* ZESE0IY0| 23 0[591 D)= JINEESS o5l A
* 20243HA: DETHE MYUYS 20231 1280] SXIE DXLYS YIEA| HQISIAIZ| HIZfLCL

=g 3IHsHA| aEUCh

24t melst StAL Eielst
il S xICto
m e oyem xede zuE  ssew Ao T SLENSY lopom xaxe zuwe  ssew MRS5S THUNS Stmdsd
olmtrst  [ofstat 4 120 30.00 4 5 94.83 -
Ztsmst  [Ztsstar 9 86 9.56 9 12 94.28 900 15 114 7.60 15 21 92,58 891
EEINES Y 4 55 13.75 4 4 96.55 1 13 13.00 1 2
=Falul oty 6 13 2.17 6 11 85.76 1 0 0.00 0
wzio)2 AEFY - AEZEE 12 7 0.58 5 7 85.87 1 0 0.00 0
SECHE _
o|gste 20 7 0.35 3 7 88.48 3 0 0.00 0
Qb star 3 26 8.67 3 3 96.52 1 3 3.00 1 2
x| = st 7 15 2.14 7 10 90.08 1 2 2.00 1 1
ZErste 10 3 0.30 2 3 2 0 0.00 0
o|c|of7{ R LA 0| M &tat 4 3 0.75 0 3 1 0 0.00 0
el bsEin 9 15 1.67 7 15 92.63 1 2 2.00 1 1
Ar5lTfe WEENEiny 6 17 2.83 5 17 89.74 1 1 1.00 0 1
o Atetala|x|28ta} 10 3 0.30 1 2 1 1 1.00 1 1
AR REAF|0{5 2t 5 13 2.60 3 12 88.77 1 0 0.00 0
fotmeap 5 8 1.60 4 6 86.22 - 0
Eqngnp 1 25 25.00 1 1 1 14 14.00 1 1
dgoyst | Agsis 30 14 0.47 4 14 86.85 5 0 0.00 0
ERIGEEIES 6 1 0.17 0 1 2 0 0.00 0
zg%o@ SYstap 12 4 0.33 3 3 77.93 1 0 0.00 0
QIR R3tEE 5 0 0.00 0 2 0 0.00 0
Zzstat 10 8 0.80 3 8 84.27 1 1 1.00 0 1
CIXpRIAMX|L o &St 9 0 0.00 0 1 1 1.00 1 1
HE|D|C|of&HE 9 3 0.33 1 3 2 0 0.00 0
ol2fofl 4 XS stat 9 0 0.00 0 1 0 0.00 0
Fatrhst
aupsle:Feingy 4 2 0.50 1 2 2 0 0.00 0
AuEstap 7 4 0.57 2 3 1 0 0.00 0
HIHT7 | ARS A2 S 55 43 078 40 43 88.08 7 2 0.29 0 1
ESETAEETSER 6 3 0.50 0 3 3 0 0.00 0
L S88ste 21 5 0.24 4 5 91.11 4 0 0.00 0
k=l EEEINETE 1 0 0.00 0 2 0 0.00 0
Eslz\g%i* ol 5tsta} 8 0 0.00 0 1 0 0.00 0
H|ergstar 9 6 0.67 2 4 3 0 0.00 0
A 7| 0f TSt 1 1 0.09 0 1 2 0 0.00 0
ABEhst |AgEthst 15 3 0.20 2 3 4 1 0.25 1 1
A - 352 513 1.46 126 - - - 40 155 3.88 23 - - -




